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B.Com. DEGREE EXAMINATION — 
JUNE, 2009.

First Year
Commerce/Computer Applications

FINANCIAL ACCOUNTING
Time : 3 hours Maximum marks : 75

PART A — (3 × 5 = 15 marks)
Answer any THREE questions.

1. What do you understand by business entity concept?
Â ¯õ£õµ uÛzx Á ö PõÒø P Gß £x  SÔzx  } AÔÁx  ¯õx ?

2. A owes B  the following sums of money due on the 
dates stated. Calculate the average due data :

Amount Due Date
Rs.

1,000 1.1.2007
2,000 1.2.2007
3,000 1.3.2007
4,000 1.4.2007

R÷Ç  SÔ¨ ¤mkÒÍ  uÁø n  ÷uvPÎ À  A  Gß £Áº 
B Gß £Á¸US   £n® uµ ÷Ás i² ÒÍx . \µõ\›z uÁø n |
õÒ PnUQkP
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ö uõø P uÁø n |õÒ

( ¹.)

1,000 1.1.2007

2,000 1.2.2007

3,000 1.3.2007

4,000 1.4.2007

3. A  firm  purchased  a  machine  for  Rs.  1,00,000  on 
1.1.2005. Depreciation is written off at the rate of 10% 
on straight line  method. The firm closes its books on 
31st December each year. Show the machinery account 
up to 31st December 2007.
J̧  {Ö©®  1.1.2005 À K º G¢vµzø u  ¹. 1,00,000US 
Áõ[Q¯x . A¢{Ö©® ÷|ºö \À•ø Ó° À B s kUS 10% ÷u
´©õÚ®  GÊ x QÓx .  JÆö Áõ¸  B s k®  
i\®£º 31® ÷uv PnUS •iUP¨ £kQÓx  GÛÀ 31.12.2007  
•ī  G¢vµ PnUø P u¯õ›UP.

4. From the figures related to June 2000, given below 
prepare the Bought Ledger Adjustment Account.

Rs.
Creditors on 1st June 2000 11,800
Credit Purchases 19,300
Cash paid to Creditors 16,500
Discount allowed by them 700
Bills payable issued 5,300
Transfer to Sales Ledger 1,100
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Cash Purchases 8,200

ãß  2000  |õÐ US›̄  R÷Ç  ö PõkUP¨ £mkÒÍ 
Â £µ[PÎ ¼¸¢x  ö PõÒ•uÀ ÷£÷µmka \›PmkU PnUS 
u¯õº ö \´P

¹.
PhÜ ¢÷uõº ( 1.6 .200À) 11,800
Phß  ö PõÒ•uÀ 19 ,300
PhÜ ¢÷uõ¸US ö \¾zv¯ ö µõUP® 16 ,5 00
PhÜ ¢÷uõµõÀ ÁÇ[P¨ £mh uÒÐ £i 7 00
ö \¾zuØS›̄  ©õØÖa m̂k ÁÇ[Q¯x 5 ,300
Â Ø£ø Ú ÷£÷µmkU PnUQØS ©õØÔ¯x 1,100
ö µõUP ö PõÒ•uÀ 8,200

5.  Patel Started  business on 1.1.2008 with a capital of 
Rs.  50,000.  His capital  on 31.12.2008 was Rs.  60,000. 
He introduced further capital Rs. 5,000 and withdrew 
Rs. 8,000 for personal uses. Find out his profit for the 
year 2008.
£m÷hÀ 1  áÚÁ› 2008  Aß Ö ¹. 5 0,000  ‰ »uÚzx hß  
Â ¯õ£õµzø uz ö uõh[QÚõº. AÁ›ß  i\®£º 31, 2008À 
‰ »uÚ® ¹. 6 0,000. C ¢u  B s iÀ AÁº ¹. 5 ,000zø u 
T kuÀ  ‰ »uÚ©õPU  ö Põs kÁ¢uõº.  
¹.  8,000  ö \õ¢u  E£÷̄ õPzvØPõP  GkUP¨ £mhx  
2008&® B s iØPõÚ C »õ£zø uU Ps k¤i.

PART B — (4 × 15 = 60 marks)

Answer any FOUR questions.
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6. From the  following  details,  prepare  Departmental 
Trading A/c.

Dept. A Dept. B

(Rs.) (Rs.)

Opening Stock 9,000 8,400

Total purchases 27,000 21,600

Total sales 42,000 36,000

Closing stock 10,800 4,800

Transfer of goods from Dept. A to B Rs. 4,000. Transfer 
of services from Dept. B to A Rs. 500.

R÷Ç  uµ¨ £mkÒÍ  Â Áµ[PÎ À C ¸¢x , x ø ÓÁõ› 
Â ¯õ£õµU PnUS u¯õº ö \´P

x ø Ó A x ø Ó B
( ¹.) ( ¹.)

B µ®£a \µUQ¸¨ ¦ 9 ,000 8,400
ö ©õzuU ö PõÒ•uÀ 27 ,000 21,6 00
ö ©õzu Â Ø£ø Ú 42,000 36 ,000
C Öv \µUQ¸¨ ¦ 10,800 4,800

x ø Ó A&° À C ¸¢x  BUS ©õØÔ¯ \µUS ¹. 4,000.

x ø Ó B° À C ¸¢x  AUS ©õØÔ¯ ÷\ø ÁPÒ ¹. 5 00.

7. On  15th February  2007,  a  fire  occrued  in  the 
premises of a company. From the following particulars 
ascertain the amount of claim.
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Rs.
Sales on 1st January, 2007 1,00,000
Purchases from 1.1.2007 to the date of 
fire

1,50,000

Wages 50,000
Manufacturing expenses 30,000
Sales from 1.1.2007 
   to the date of fire 2,40,000

The Gross Profit Ratio is 25%. The Stock salvaged was 
valued at Rs. 19,500.
J̧  {ÖÁÚzvß  ÁÍõPzvÀ ¤¨ µÁ› 15 , 2007  Aß Ö J̧  w 
Â £zx  {PÌ¢ux . R÷Ç ö PõkUP¨ £mkÒÍ Â Áµ[PÎ À C ¸
¢x  ÷Pm¦z ö uõø Pø ¯ PnUQkP

¹.

áÚÁ› 1, 2007  \µUQ¸¨ ¦ 1,00,000

1.1.2007  •uÀ w Â £zx  |h¢u |õÒ Áø µ ö PõÒ•uÀ 1,5 0,000

T ¼ 5 0,000

EØ£zva ö \»Ä PÒ 30,000

1.1.2007  •uÀ w Â £zx  |h¢u |õÒ Áø µ Â Ø£ø Ú 2,40,000

ö ©õzu »õ£ Â Qu® 25 %

Põ¨ £õØÓ¨ £mh \µUQß  ©v¨ ¦ 19 ,5 00
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8. Head  Office  at  the  Calcutta  has  a  Branch  at 
Mumbai.  Goods  are  supplied  to  the  Branch  at  cost. 
Prepare Branch Account in the books of Head office.

Rs.
Opening stock (1.4.2006) 24,000
Closing stock (31.3.2007) 18,000
Credit sales 41,000
Cash sales 17,500
Receipt from Debtors 37,900
Sundry Debtors on 31.3.2007 9,160
Goods sent to Branch 30,000
Expenses paid by the Head Office for the Branch 10,400

PÀPzuõÂ À EÒÍ uø »ø © A¾Á»PzvØS •®ø £° À J̧  
Qø Í  EÒÍx .  Qø ÍUS  AhUPÂ ø »° ÷»÷̄  \µUS 
AÝ ¨ £¨ £kQÓx . R÷Ç  ö PõkUP¨ £mh  uPÁÀPÎ ¼¸¢x  
uø »ø ©¯P HkPÎ À Qø ÍU PnUø Pz u¯õº ö \´P.

¹.

B µ®£ \µUQ¸¨ ¦ ( 1.4.2006 ) 24,000

C Öv \µUQ¸¨ ¦ ( 31.3.2007 ) 18,000

Phß  Â Ø£ø Ú 41,000

ö µõUP Â Ø£ø Ú 17 ,5 00

PhÚõÎ PÎ hª ¸¢x  ö £Ó¨ £mhx 37 ,9 00

31.3.2007  Aß Ö £Ø£» PhÚõÎ PÒ 9 ,16 0

Qø ÍUS AÝ ¨ £¨ £mh \µUS 30,000

uø »ø © A¾Á»PzuõÀ Qø ÍUPõPa 

  ö \¾zu¨ £mh ö \»Ä PÒ 10,400
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9. What are the differences between consignment and 
Joint venture?
AÝ ¨ ¥k ©ØÖ® C ø nÂ ø Ú° ø h÷̄  EÒÍ ÷ÁÖ£õkPÒ 
¯õø Á?

10. Prepare  an  Account  Current  to  be  rendered  by 
Suresh to Ramesh from the following for the half year 
ending 30th June 2007.

2007 Rs.
Jan. 1 Sold goods to Ramesh 5,000
Feb. 1 Bought goods from Ramesh 4,700
Mar. 1 Received cash from Ramesh 2,000
April 1 Cash advanced to Ramesh 8,000

Calculate interest at 5% p.a. in terms of months only.

¤ß Á¸®  uPÁÀPÎ ¼¸¢x  ãß  30,  2007 &À 
•iÁø h² ®  Aø µ  B s kUS  _÷µåõÀ  µ÷©çUS 
ö PõkUP¨ £h  ÷Ás ī  |h¨ ¤¾ÒÍ  |h¨ ¦U 
PnUö Põß ø Óz u¯õ›UPÄ ®.

2007 ¹.
1 áÚÁ›. µ÷©çUS \µUS Â ØÓx 5 ,000
1 ¤¨ µÁ› µ÷©æ hª ¸¢x  \µUS ö PõÒ•uÀ ö \´ux 4,7 00
1 ©õºa µ÷©æ hª ¸¢x  ö µõUP® ö £ØÓx 2,000
1 ḦµÀ µ÷©æ US ö µõUP® ö Põkzux 8,000

Ámi B s iØS 5 % PnUQh¨ £h ÷Ás k® ( ©õuzvØS)

11. From the following find out how much is to be shown 
in  Income  and  Expenditure  A/C  for  the  year  ending 
31.12.2007 for subscription.
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(a) Subscription  received  during  the  year  as  per 
receipts and payment a/c. Rs. 28,680.
(b) Subscription  outstanding  on  1.1.2007  
Rs. 2,400
(c) Subscription  outstanding  on  31.12.2007  
Rs. 3,000
(d) Subscription received is advance on 1.1.2007 Rs. 
1,800
(e) Subscription  received  in  advance  on  31.12.2007 
Rs. 1,080.

¤ß Á¸®  Â £µ[PÎ ¼¸¢x  31.12.2007 À 
•iÁø h² ® B s iØPõÚ  Á¸Áõ´ ö \»Â ÚU PnUQÀ \
¢uõ ö uõø P GÆÁÍÄ  Põmh¨ £h ÷Ás k®?

( A) ö £ÖuÀ ö \¾zuÀ PnUQß  £i ö £ØÓ  \¢uõ  
¹. 28,6 80

( B ) 1.1.2007 À Áµ÷Ás ī  \¢uõ ¹. 2,400

( C ) 31.12.2007 À Áµ÷Ás ī  \¢uõ ¹. 3,000

( D) 1.1.2007 À •ß Tmi ö £Ó¨ £mh \¢uõ ¹. 1,800

( E) 31.12.2007 À •ß Tmi ö £Ó¨ £mh \¢uõ 1,080.

12. From the following prepare a Trial balance
Rs.

Drawings 23,760

UG–7158



wk 9

Land 20,000
Opening stock 62,000
Debtors 90,000
Bank 21,000
Capital 34,000
Car 25,240
Rent 9,000
Creditors 35,000
Purchases 4,00,000
Postage 3,000
Sales 6,10,000
Plant 25,000

RÌUPs hÁØÔ¼¸¢x  C ¸¨ £õ´Ä  £mī À u¯õ›UPÄ ®

¹.

Gk̈ ¦ 23,7 6 0

{»® 20,000

ö uõhUP \µUS 6 2,000

PhÚõÎ PÒ 9 0,000

Á[Q 21,000

‰ »uÚ® 34,000

Põº 25 ,240

Áõhø P 9 ,000

PhÜ ¢÷uõº 35 ,000
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ö PõÒ•uÀ 4,00,000

Ag \À ö \»Ä 3,000

Â Ø£ø Ú 6 ,10,000

ö £õÔ 25 ,000

 

—————
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